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[13] 

Q5 Model Solution – 25 Marks Marking Notes 

(a) 
(i) 

 

ݔ5) − 9)ଶ = ݔ) − 1)ଶ +  ଶ(ݔ4)

ଶݔ8 − ݔ88 + 80 = 0 

ଶݔ − ݔ11 + 10 = 0 

ݔ) − ݔ)(1 − 10) = 0 

ݔ = 1		or		ݔ = 10 

ݔ	 = 10 

 
Scale 10D (0, 2, 5, 8, 10) 

Low Partial Credit 
• any use of Pythagoras 

 

Mid Partial Credit 
• fully correct substitution 

 

High Partial Credit 
• both roots correct 

 
(a) 
(ii) 

 

 Sides=9, 40, 41 

9ଶ + 40ଶ = 41ଶ 

81 + 1600 = 1681 

1681 = 1681 

 

 

 

Scale 5B (0, 2, 5) 

Partial Credit 
• 9 or 40 or 41 
• using  1  or  −10  from candidates work 

 

(b) 
(i) 

Function is bijective if inverse exists 

݂ିଵ(ݔ) =
ݔ + 2
3

 

⇒		Function is injective. 

   or 
 Horizontal line test. 

   or 
݂(ܽ) = ݂(ܾ) 

3ܽ − 2 = 3ܾ − 2 

⟹ ܽ = ܾ 

   or 

∀	ܽ, ,ܣ	ߝ	ܾ ݂(ܽ) = ݂(ܾ) ⇒ ܽ = ܾ 

 

 

Scale 5B (0, 2, 5) 

Partial Credit 
• ݂ିଵ(ݔ) written 
 drawn (ݔ)݂ •
• ݂(ܽ) = ݂(ܾ) 

(b) 
(ii) 

 

(ݔ)݂ = ݔ3 − 2 

݂ିଵ(ݔ) =
ݔ + 2
3

 

 

Scale 5B (0, 2, 5) 

Partial Credit 
• any relevant transpose 

 
 
  


